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Part One Translation (90 points)

I. Put the English passage into Chinese. (45 points)

Five Scientific Breakthroughs in the 21st Century

It is predicted that there will be 5 scientific breakthroughs in 21st century.

We will know where we came from. Why does the universe exist? To put it
another way, why is there something instead of nothing? Since the 1920s,
scientists have known the universe is expanding, which means it must have
started at a definite time in the past. They even have developed theories that give
a detailed picture of the evolution of the time it was fraction of a second old to
the present. Over the next couple of decade, these theories will be refined by
data from extraordinary powerful new telescope. We will have a better
understanding of how matter behaves at the unfathomably high temperatures
and pressures of the early universe.

We’ll crack the genetic code and conquer cancer.

In 19th-century operas, when the heroine coughs in the first act, the
audience knows she will die of tuberculosis in Act 3. But thanks to 20th-century
antibiotics, the once-dreaded, once-incurable disease now can mean nothing
more serious than taking some pills. As scientists learn more about the genetic
code and the way cells work at the molecular level, many serious
diseases-cancer, for one-will become less threatening. Using manufactured
“therapeutic” viruses, doctors will be able to replace cancer-causing damaged
DNA with healthy genes, probably administered by a pill or injection.

We’ll live longer (120 years?).

[f the normal aging process is basically a furious, invisible in our cells -- a
contest between damage to our DNA and our cell’s ability to repair that damage
-- then 21st -century strides in genetic medicine may let us control and even
reverse the process. But before we push scientists to do more, consider: Do we
really want to live in a world where no one grows old and few children are born
because the planet can hold only so many people? Where would new ideas come
from? What would we do with all that extra time?

We'll “manage” Earth.

In the next millennium, we’ll stop taking about the weather but will do
something about it. We'll gradually learn how to predict the effects of human
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activity on the earth, its climate and its ecosystems. And with that knowledge
will come an increasing willingness to use it to manage the working of our
planet.

We’ll have a brain road map.

Early in the next century, we will use advanced forms of magnetic
resonance imaging to produce detailed maps of the neurons in operation. We'll
be able to say with certainly which ones are working when you read a word.,
when you say a word, when you think about a word, and so on.

I1. Put the following passage into English. (45 points)
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Part Two  English Linguistics (30 points)

I. Read each of the following statements carefully and decide which of the
four choices best completes the statement. (10 points, one point each)

1. A (n) is a mild, indirect or less offensive word or expression that
serves to avoid more direct wording that might be harsh, unpleasantly direct,
or offensive.

A. blend B. coinage C. euphemism D. taboo
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2. Behaviorism found the differences or similarities between native and target
languages would either lead to positive transfer or negative transfer, the latter
also known as
A. language transfer B. cross-association
C. overgeneralization D. interference

3. According to Grice, the sentence “She is a woman but she is not romantic”

has the implied meaning that women are romantic, and this implied meaning
is called
A. conventional implicature B. non-conventional implicature
C. particularized conversational implicature  D. conversational implicature
4. The sentence “What did you say when you saw the lawyer?” “You
saw the lawyer.”
A. entails B. contradicts
C. includes D. presupposes
5. Linguistic repertoire refers to -
A. all the linguistic varieties an individual possesses
B. all the regional dialects an individual speaks
C. all the words of his native language an individual knows
D. all the speech acts an individual is capable of performing

6. theorized that acquisition of a language is an innate process
determined by biological factors which limit the important period for
acquisition of a language from roughly two year of age to puberty.

A. Input Hypothesis B. Interaction Hypothesis
C. Critical Period Hypothesis D. Sapir-Whorf Hypothesis

7. is the academic discipline concerned with the study of the
processes by which people learn languages in addition to their native tongue.
AJPA B. IC Analysis C.8LA& D. TG

8. Halliday distinguishes three social variables—field of discourse, tenor of
discourse, and mode of discourse that determine the register which means

A. The language used for a certain occupation

B. The type of language selected as appropriate to a type of situation

C. The area of operation of the language activity

D. The channel of communication selected as appropriate for a certain
situation
9. The most striking difference between the language of the old and that of the

young is found

A. 1n their pronunciation B. in the words they use

C. in the way they construct sentences D. in the way they use body language
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10. The two words “hot” and “cold” are a pair of
A. co-hyponyms B. complementary antonyms
C. relational antonyms D. gradable antonyms

II. Explain the following linguistic terms. (20 points, 4 points each)

1. the illocutionary act
2. a minimal pair

3. sociolinguistics

4. performance

5. interlanguage
Part Three English Literature(30 points)
L. Define the following terms. (10 points, 5 points each)

1. Critical Realism
2. Modernism

II. Identify the sources of the following quotations (the author of the
quotation and in which novel or poem or play the quotation appears) and
give their main ideas. (20 points, 10 points each)

1. “My dear Algy, I don’t know whether you will be able to understand my real
motives. You are hardly serious enough. When one is placed in the position
of guardian, one has to adopt a very high moral tone on all subjects. It’s
one’s duty to do so. And as a high moral tone can hardly be said to conduce
very much to either one’s health or one’s happiness, in order to get up to
town I have always pretended to have a younger brother of the name of
Ernest, who lives in the Albany, and gets into the most dreadful scrapes. That,
my dear Algy. is the whole truth pure and simple.”

2. What I must do is all that concerns me, not what the people think. This rule,
¢qually arduous in actual and in intellectual life, may serve for the whole
distinetion between greatness and meanness. It is the harder because you
will always find those who think they know what is your duty better than
you know it. It is easy in the world to live after the world’s opinion; it is
easy in solitude to live after our own; but the great man is he who in the
midst of the crowd keeps with perfect sweetness the independence of
solitude.
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